Square and Square Root—Practice

Practice:

1. Find the square of 2

2. Find the square of 8

3. Find 52

4, 32=

5. 4isthe of 2

Answers:

The square of 2 means 2 x2 =4

The square of 8 means 8 x 8 = 64

52 means find the square of 5 which equals 25
3?=3x3=9

square
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Practice:
1. Find the square root of 9

2. Find the square root of 16

3. Find V4

4. Find V49

5. 2isthe of 4

Answers:

The square of 3 (3 x 3) is 9; therefore, the square root of 9 is 3.
The square of 4 is 16; therefore, the square root of 16 is 4.
V4 means find the square root of 4. Since 2 x 2 = 4, V4=2
\49 means find the square root of 49. Since 7 x 7 = 49, V49=7

square root
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Extra Practice:

V1= 42 =
V81 = 112 =
\25= 72 =
V100 = 122 =

Answers to Extra Practice:

1 16
9 121
5 49
10 144
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